Geometry — GT/Honors
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Chapter 6 Review — Quadrilaterals Date B Period
IFind each of the following values.
Use parallelogram GRAM for problems 1-4.
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Use rectangle RECT for problems 5-8.
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Use rhombus RHOM for problems 9-11.
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Use square SQUA for groblems 12-14.
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Use isosceles trapezoid TRAP for problems 18-20.
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In problems 21-23, if there is enough information to state that the quadrilateral is a parallelogram give the
reason. Write none if there is not enough information to state that the quadrilateral is a parallelogram.

21. E is the midpoint of AC and BD
dicgonals bisect each other — /7

22. £2=/6 and L3=17 : “
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24. The coordinates of the vertices of quadrilateral ABCD are A(-4, -2), B(-1, 3), C(4, 0), and D(1, -5).
Determine whether the quadrilateral is a parallelogram, a rectangle, a rhombus, or a square. List all

that apply and explain why you are listing the ones that you are. SHOW WORK! (A graph is not
sufficient.) _B
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. The coordinates of the vertices of quadrilateral PQRS are P(4, 4), Q(1, 2), R(2, -2), and S(5, 0).
Determine whether the quadrilateral is a parallelogram, a rectangle, a rhombus, or a square. List all

that apply and explain why you are listing the ones that you are. SHOW WORK! (A graph is not
sufficient.)
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26. The coordinates of the vertices of quadrilateral WXYZ are W(5, 0), X(6, -8), Y(-1, -4), and Z(-2, 4).
Determine whether the quadrilateral is a parallelogram, a rectangle, a rhombus, or a square. List all
that apply and explain why vou are listing the ones that you are. SHOW WORK! (A graph is not

sufficient.) ‘ . W %
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27. Find the coordinates of the 3 possible points for the missing vertex in a parallelogram if tfn;ée of the
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28. Given ABCD isakiteand mZBCD = 50°
ms2 = 40°
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29. AABC has midpoints D, E, and F. If the perimeter of A E
ADEF is 23, then find the perimeter of AABC. \ A /
D C >F

f,

30. KITE is a kite. M, N, O, and P are midpoints.
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.31. OE is an isosceles trapezoid. T, R, A, and P are midpoints
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